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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R

07:10 283 150.0 2.888 [(Z=| FhHA@O7:10 kENFEF (RA{EEIER)
07:45 283 150.0 2.888 |Z=| FnHR@07:45 XKEEF (KBFERE)
08:20 283 150.0 2.888 [Z=| ThHA@D8:20 kENFEF (KAfREE)
09:05 283 150.0 2.888 (Z=| FhHA@09:05 KENFEF (RA{EEEE)
09:50 283 150.0 2.888 (Z=| FmHA@D9:50 kENFEF (kAfEEIER)
10:25 283 150.0 2.888 [Z=| ThHA@10:25 kENFEF CRAfREER)
11:00 283 150.0 2.888 |Z x| TiHAe11:00 KENFEF (RAMEEEE)
11:35 283 150.0 2.888 (Z=| FaHA@11:35 kENFEF CRAfEEER)
12:05 283 150.0 2.888 (£ =| FhHA@12:05 KENFEF (RA{EREEE)
12:35 283 150.0 2.888 [Z=| ThHAe12:35 kHEIEF CKAHEESR)
13:05 283 150.0 2.888 (Z=| FhHA@13:05 kENFEF CRAfEEIER)
13:40 283 150.0 2.888 |Z=| TiHH@13:40 KEIEF (RAAEESE)
14:15 283 150.0 2.888 [Z=| TaHAe14:15 KEIEFE CGRAFEER)
14:50 283 150.0 2.888 [(Z=| FaHA@14:50 KkENFEF (RAfEEIER)
15:25 283 150.0 2.888 (Z=| FaHA@15:25 kENFEF CRA{fEEER)
16:10 283 150.0 2.888 [Z=| ThHAe16:10 kENIEF (RAMHEEER)
17:00 283 150.0 2.888 |Z=| FmHA@17:00 KEFEHF (GREBERSE)
2it]4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.8
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P3-11
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—o— M_E

7é0 7é5
m=850,n FV0=0

725

23. 25 A

23. 00 A

22.75 A

22.50 A

22.25 A

22.00 A

—&— M_E

850 855 860

23.

22.

22.

22.

22.

22.

23.

22.

22.

22.

22.

22.

23.

23.

22.

22.

22.

22.

22.

23.

23.

22.

22.

22.

22,

21.

m=470, FV0=0
‘/l/r/#/’/...\.h.Q\i/’\;.
4;0 4;5 4é0

m=630,m FV0=0
/\1
650 655 6&0

m=755,m FV0=0
/\\__*\M\E
755 7é0 7é5

m=890,m FV0=0

25 A

00 -

75 1

50 A

25 -

00 ~

75 -

-o— M_E

890 895 900

24.

23.

23.

23.

23.

22.

23.

23.

22.

22.

22.

22.

23.

23.

22.

22.

22.

22.

23.

23.

22.

22.

22.

22.

m=510, FV0=0

00 A

75 A

50 -

25 H

00 -

75 A

—o— M_E

5%5 5é0
m=665,n FV0=0

25 A

00 -

75 A

50

25 A

00 -

—o— M_E

6%0 6;5
m=785,n FV0=0

25 A

00 -

75 A

90

25 -

00 -

—&— M_E

760 755
m=930,n FV0=0

785

25

00 -

75 -

50 -

25 A

00 -

—o— M_E

930 935 940




m=975, FV0=0

23. 25 A

23. 00

22.75 A

22. 50 A

22.25

22.00 A

26.

25.

25.

24.

24,

26.

26.

25.

25.

24.

24.

26.

25.

25.

24.

24.

—o— ME

950 9é5
m=470,n FV0=0

—— MW

4;5 4é0
m=630,n FV0=0

—— MW

e
i

Gé5 6&0
m=755,n FV0=0

-— MW

i
i
5

760 765

23. 25 A

23.00 A

22.75 A

22.50 A

22. 25 A

22.00 A

26.

26.

25.

25.

24.

26.

26.

25.

25.

24.

24

26.

26.

25.

25.

24,

24.

m=1035, FV0=0

—0— ME

1020 1d45
m=510,n FV0=0

T
1035

—o— MW

5{5 5é0
m=665,n FV0=0

—o— MW

6%0 655
m=785,n FV0=0

665

- MW

785 790 795

26.

26.

25.

25.

24.

24.

26.

26.

25.

25.

24.

24.

26.

25.

25.

24.

24.

99 —— MW
460 660 860 1obo
m=555,m FV0=0
5 —
—— MW
0 -
5 -
0 -
5 -
0 -
555 560 565
m=695,m FV0=0
5 —
—— MW
0 -
5 -
0 -
5 -
0 -
695 700 705
m=815,m FV0=0
07 —— MW
5 -
0 -
5 -
O -

815 820 825

24.

24,

23.

23.

22.

22,

26.

26.

25.

25.

24.

24.

26.

26.

25.

25.

24.

24.

26.

25.

25.

24.

24,

23.

m=440, FV0=0

M_w

445 450
m=595,m FV0=0

—— MW

7

660 665
m=725,n FV0=0

—— MW

750 7é5
m=850,n FV0=0

725

- MW

850 855 860




m=890, FV0=0

26.0

25.5

25.0

24.5

24.0

23.5 A

—0—

M_W

890

T
895

900

m=930, FV0=0

26.0 -

25.5 A

25.0 A

24.5 -

24.0 A

23.5 A

—0—

MW

930

T
935

940

m=975, FV0=0

26.5 -

26.0

25.5

25.0 -

24.5

24.0

—0—

M_W

975

T
980

T
985

26.5 -

26.0

25.5 A

25.0 -

24.5 A

24.0 A

m=1035, FV0=0

——

M_w

T
1035

T
1040

T
1045




hour

:00 -
105 -

:00
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:35
120
:05
140
115
:50
125
110
:00
:55
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P3-11

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:20 283 150.0 2.888 RS {Ri&@07:20 BHal (REAEREE)
08:00 283 150.0 2. 888 BE| 1Ri%e08:00 B (RFA{EEEE)
08:40 283 150.0 2.888 S| {Ri&e08:40 B (REAEEE)
09:35 283 150.0 2.888 RS {Ri%e09:35 B (REAEHE)
10:35 283 150.0 2. 888 BE| 1Ri%e10:35 Bz (RF{EREE)
11:20 283 150.0 2.888 el Rige11:20 Ba) (REEESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:40 283 150.0 2.888 BE| BRi%e12:40 Bz (GGREAERESE)
13:15 283 150.0 2. 888 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 2.888 B 1Rige13:50 Bah (REAEESE)
14:25 283 150.0 2.888 BS| 1Ri%e14:25 Bz CGREMEESE)
15:10 283 150.0 2.888 Bl Rige15:10 Bal (REEESE)
16:00 283 150.0 2.888 B 1Rige16:00 Bzh (REEESE)
16:55 283 150.0 2.888 BS| 1Ri%e16:55 B (GREMEESE)
21t 3962.0 (14)%) 2100.0 3EGHIKEC: 2080.0, PH: 5.8

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[EKECE (1887.0 vs 3987.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=69 (2025-06-10)

1 J e e e e e e e e g B B ——
VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2760 3000
2208 2300 250
100 i
1800 511 2000
083
50 - L 1000
80 20
Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 430. 0
150 4 - 27.5
100_ —250
50 - -22.5
1.0 20.0
4
0.8 4
0.6 -
0.4 4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.5 OPtECO=2600.0, setECB=2080.0 t
0.6 -
0.4 4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 N
0.6 -
0.4 4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0
1 2 4000
400 +—Byinit :@D71 01:56: ET=2435 Fg=2850.0 R0o=588.0
1
L 3000
i 1
300 i
1
200 - I e 8% L 2000
1
1
o : 111 I n N 1000
s - 1111 .
0pb—=a —— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
40T [ |’ [, (% [ B [B[ B [B [F|% | |K|K|K|K[K[K[K[B[B[B|BE]|B
1
300 4 ByEt @D69 19:36: ET=2392 Fg=2250.0 Ro=nan : - 3000
o—+o—eo—o—o
200_ | '2000
1
100 - = L | - 1000
)—o—0—0—0——0—@ II S T
0 pb—n P -G P 1 — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
40T [ | [/ (% [ B [ B[ [B %% | |K|/K|K|#K K [K[K[K[B[B|[BE]|B
1
300 ByWoFy 18D71 01:56: ET=1617 Fg=2100.0 Ro=421.0 - 3000
1
200 - : L 2000
1
100 - : - 1000
—eo—h—o—o—o
1'0_l—‘ S o 0
0 1 2 3 4 5
0g | M | & | % | B | W | B | B | B | B | PR | B | Fs | m5 | B | e | B | BR | B | Fs | W5 | B | FR | B | B
0.6 -
0.4 4
0.2
0.0
—_— 4

[ ] | _obs
—@— PPFD obs

40

[ ] RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

23. 25
M_E —o— ME —o— ME —o— ME
23.0 7 23. 00
22.0 -
22.8 - 22. 75 -
2159 29 6 4 22.50 A
22.25
21.0 - 22.4 4 S
22.00
22.2 -
T T T T T T T T T T T T
600 800 1000 440 445 450 475 480 485 535 540 545
m=580,m FV0=0 m=630,m FV0=0 m=675,m FVO=0 m=715,m FV0=0
- ME —e— MFE —o— ME | 239507 o v
23. 25 23. 25
23. 25
23.00 - 23.00 1
23. 00
99 75 22.75
22. 75 -
22.50
22.50
22.50
22. 25 -
22. 25 -
22,00 22.25 1
T T T T T T T T T T T
585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
23.6 23.50
23.75
23. 4 23. 25
23. 70
i 23. 00
23.2 23. 65
22. 75 -
23.0 1 23. 60 -
22.8 22.50 7 23. 55 -
22.6 4 22.25 23. 50 4
760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
—e— ME 23 8 —o— ME 24.0 1 —— ME |23.75{ —— ME
23.8 - 23. 50
23.6 -
23.6 1 23. 25 -
23. 4 -
23. 4 1 23. 00 -
23.2 -
23.2 4 29 75
23.0 -
23.0 22.50
22.8 -
895 900 925 930 935 960 965 970 1030 1035 1040



26.

25.

25.

26.

25.

25.

26.

26.

25.

25.

m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

—— MW 26.5 1 —— MW —— MW
26.0 -
24.5
26.0 - 25.5 -
24.0 1
25.0 -
23.5 25.5
24.5
23.0 1
25.0 -
24.0
22.5 -
T T T T T T T T T T 23 5 - T T T
400 600 800 1000 440 445 450 475 480 485 535 540 545
m=580,m FV0=0 m=630,m FV0=0 m=675,m FV0=0 m=715,m FV0=0
0 —— MW —0— MW | 26.0- —— MW —— MW
26. 0 - 26.0
5 25.5 -
25.5 25.5 -
25.0 -
0 1 25.0 1 25.0 A
24.5
24.54 24.5 1 24.5 -
24.0
24.0 24.0 4.0 4
23.5 -
T T T T T T T T T T T T
580 585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
26.5
0 —o— MW —o— muw | 27 —o— | 2647 —o— MW
26.0 7 25.0 1 26. 2
5 -
25.5 ]
24.5 26.0 -
0 -
25.0 ]
24.5 - 24.0 25. 8 1
24.5 1 23.5 1
24.0 1 39 25.6 -
T T T 24 0 T T T 23 0 - T T T T T T T T
755 760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
5 - —— MW | 26.5- —— MW | 27.0- —e— MW | 26.54 —— MW
0- 26.0 - 26.5 - 26.0
25.5 -
9] 25. 5 - 26.0 -
25.0 -
U 25.0 - 25. 5 -
24.5 -
24.5 24.5 25.0
24.0 1
24.01 T T T 24.0 - T T T 24.5 - T T T T T T
890 895 900 925 930 935 960 965 970 1030 1035 1040



hour

105 -

210 -

:45
:35
:35
:35
:20
110
:35

100

:00 -

80
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- 40
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bzl (KREEESE)
09:05 283 150.0 2.888 |Z=| {Ri%e09:05 Bzl (REAEHE)
09:55 283 150.0 2.888 |Z=| {Ri%e09:55 Bz (KREEHE)
10:45 283 150.0 2.888 [Z=| 1BRi%e10:45 Bzh (REEESE)
11:35 283 150.0 2.888 |Z=| {Ri%e11:35 Bz (REAEHE)
12:35 283 150.0 2.888 |Z=| {Rige12:35 Bz (REAEHE)
13:35 283 150.0 2.888 |[/\if| 1Ri%e13:35 Bah (GREEESE)
14:20 283 150.0 2.888 FA| 1Ri%@14:20 B3h (RkAERSE)
15:10 283 150.0 2.888 |Z=| fRige15:10 Bzh (RAEEEE)
16:35 283 150.0 2.888 [Z=| 1Ri%e16:35 Bzh (FREEESE)
24t 2830.0 (10%%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.9

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEIKECE (1897.0 vs 4047.0) 35

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1000 ~

P3-11_0, Day=68 (2025-06-09)

150 A
100 A

50

(¢
200 -
150 -
100 A

50 -

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

997 2208

162

80 80
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

40040 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

1
Bylnit @71 01:56: ET=1677 Fg=2100.0 Ro=444.0

1800 800 I 2000

i 3000
- 2000

- 1000

- 9000

300 1 ByEt @D68 19:06: ET=1580 Fg=1800.0 Ro=nan

100 A

i — R " — —
4081 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

55| %= B | BB [ KB | kKB | KB | B | MW | W | W [m [ [BHA[F|®|MW|K|K|B|B|KB|®B|[F

[ == ——

- 2000

- 1000

- 9000

300

200

100 A

ZE|ZE|(Z=| W | BB | W [ B I ZR[(ZR|EE(ZR|ER(Za|)W| B |ER|(ZE|EE |2 (2|25 (25| B [ B

]
ByWoFv 1@D71 01:56: ET=1162 Fg=1500.0 Ro=295.0

- 2000

- 1000

s lBZB=|B= | B | B |0 | 1 52372718227 2210m| W 2215227182182 27182 % | &

0.6
0.4+

0.2~

0.0

500 A

—_—
(] | _obs
—@— PPFD obs

_— T
o T obs
o To_obs

v ] VPD

2700 - 3000 ~

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

22.75 4

—8— ME ’1 o —— ME —e— ME 23.2 1 —e— ME
.25
] 22.50
23 23.0
21.00
22.25
22 20. 75 A 22.8 1
22.00
20. 50 22.6
21 ~ 21.75 1
20. 25 99 4
21.50
20 - 20. 00 A
T T T T T T T 21 N 25 - T T T 22 2 L T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FV0=0 m=715,m FV0=0 m=765,m FV0=0
23. 25
. ME 23.2 - . ME 23. 4 o M E
23.00 23.0 - 23. 2 -
23.0
2275 - 22. 8 23.0 A
22.8
22.6 22.8
22.50 22.6
22.4 22.6
22.25 22.4
22.2 22. 4
22.00 - 22.2
22.0 M_E 22.2
T T T T T T T T T T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
23.254+ —@— ME —o— ME 23. 50 1 —— ME —— ME
23. 4 1 23. 4 1
] 23. 25
23. 00 93 9
23.2
22.75 23.0 23. 00
23.0
22.50 22.8 22.75 -
22.8
22.25 22.6 29 50 A
] ] 22.6
22.00 22.4 22,25 -
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FV0=0 m m=370,m FV0=0 m=415,m FV0=0
23.6 - o— MNE 07l —e— mw —— MW —o— W
24.0 26.0 -
23. 4 26 -
23.5 25.5
25 -
23.2 4 23.0 -
04 25.0
] 22.5
23.0 23 - 24.5 -
22.0
22.8 4 22 1 24.0 4
1020 1025 1030 400 600 800 1000 370 375 380 415 420 425



26.

26.

25.

25.

24.

24,

26.

26.

25.

25.

24,

24.

27.

26.

26.

25.

25.

24.

m=525, FV0=0

—0—

M_W

T T
530 535

m=765,m FV0=0

—0—

M_W

T T
770 775

m=965,m FV0=0

——

M_W

965

970 975

26.

25.

25.

24,

24,

26.

25.

25.

24

24

23.

27.

26.

26.

25.

25.

m=615, FV0=0

—— MW

615

T T
620 625

m=830,m FV0=0

—— MW

830

T T
835 840

m=1020m FVO0=0

—— MW

1020

1025

1030

26.

25.

25.

24,

24,

26.

26.

25.

25.

24.

24.

m=670, FV0=0

—— MW

670

6%5 6é0
m=865,n FV0=0

—— MW

865

870 875

26.

26.

25.

25.

24,

24,

26.

26.

25.

25.

24.

24

m=713, FV0=0

——

M_w

715

7é0 7é5
m=910,n FV0=0

——

M_W

910

915 920




hour

10:
11:
11:
12:
12:
13:
13:
14:
15:
15:
16:
17:

0 N 94 O O

100

80

- 60

- 40

§_



P3-11

BriE) | EBIATK (D) | EHE (EH/H) | BEBRERE (/R |[XKS ERE

07:15 283 150.0 2.888 RS 1Rige07:15 Bah (REEESE)
07:50 283 150.0 2.888 B 1Rige07:50 Bah (REEEER)
08:25 283 150.0 2. 888 RS {RRi%e08:25 Bz (REEREE)
09:20 283 150.0 2.888 RS {Ri%@09:20 Bz (REERER)
10:00 283 150.0 2.888 el Ri%@10:00 Bal (REAEHE)
10:35 283 150.0 2.888 RS {Ri%@10:35 Bz (REAERE)
11:10 283 150.0 2.888 S| Rige11:10 Bz (REAERSR)
11:45 283 150.0 2.888 B Rige11:45 Bz (REAERSE)
12:15 283 150.0 2.888 BE| Rige12:15 Bz (REAERE)
12:45 283 150.0 2. 888 B Rige12:45 Bz (REERSE)
13:15 283 150.0 2.888 B Rige13:15 Bzt (REERSE)
13:50 283 150.0 2.888 RSl Rige13:50 Bz (REAEHE)
14:25 283 150.0 2. 888 e Rige14:25 Bz (REAERSE)
15:00 283 150.0 2.888 S| 1Rige15:00 Bah (GREERESE)
15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAERE)
16:25 283 150.0 2. 888 BE| Rige16:25 Bz (REAERSE)
17:25 283 150.0 2.888 S| 1Rige17:25 Bzh (REERESE)
2it] 4811.0 (17%) 2550. 0 3EUHKEC: 2080.0, PH: 5.8

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHEKECE (1927.0 vs 3870.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1

1

2

1

1

1.

3

2

1

4

3

2

1

4

3

2

1

1.

0.8

0.6

0.4+

0.2~

0.0

P3-11_0, Day=67 (2025-06-08)

50 A
00 A

50

(¢
00 A
50 A
00 A

50 -

VI, V&RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 3312

2500

857 963

Warning: lcol [FVI',| "FVO’'] missing

"

0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

00 A

00 -

0 1

Y

1
Bylnit:@D71 01:56: ET=2598 Fg=3150.0 Ro=594.0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

00 7

E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES |
5 5 H i 5 5 5 i H 5 G A B 5 G A B 5 G A B 5 G A

00 A

00 A

00 -

0 1

ByEt @D67 19:05: ET=2429 Fg=2700.0 Ro=nan

1L ity |
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